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-2 -8 -3 20134 20124 HwsZ
= A 23,305,500 18,097,252 5,208,248
200 A2+ 23,305,500 18,097,252 5,208,248
220 JAIH A+ 23,305,500 18,097,252 5,208,248
224 Y3 23,305,500 18,097,252 5,208,248
224-03 J|Et2|H He= 23,305,500 18,097,252 5,208,248
O (MstEAZsHEetSH 1,932,700 1,757,000 175,700
O =E=SgEsdH2d 6,006,000 5,720,000 286,000
O04d - -3LrErdHBR2Y 6,850,000 6,430,000 420,000
O SdANANEZN22H 8,516,800 4,190,252 4,326,548
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-

Ol

7,938,700

7,477,000

461,700

1,932,700

1,757,000

175,700

98,700

68,700

30,000

98,700

68,700

30,000

1,388,906

1,086,512

302,394

1,008,235

820,711

187,524

68,576

68,576

246,155

203,241

42,914

31,200

28,800

2,400

28,840

28,760

80

5,900

5,000

900

445,094

601,788

A 156,694

28,000

30,660

A 2,660

47,200

46,180

1,020

73,060

A 73,060

70,100

69,420

680
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FHE/HRA/H=R HZEQ o M= Qo HusZ
012/ 0| OtE Q! I Ol & 96,200 88,240 7,960
Sotcl 43t 40,500 39,800 700
0Pt 283H 93,094 128,400 A 35,306
StEAl 2= N 60,000 126,028 A 66,028
BHOIEAHIOlA D& E Al 10,000 - 10,000
EESHER2E(RE3) 6,006,000 5,720,000 286,000
IEEEE 3,600 - 3,600
DMEIIH2H 3,600 - 3,600
E2E 1,431,928 1,222,161 209,767
HH 2L ZHI(2AH]) 1,254,018 1,109,901 144,117
HH2IZHI(ZA2) 94,370 - 94,370
F2g3u(Let24) 73,890 66,060 7,830
2 3I(MAHSHI) 9,650 46,200 A 36,550
HH2ZE 3,151,442 3,096,557 54,885
CHHOIAD2ZE 50,974 17,532 33,442
=T 2Y 187,244 163,940 33,304
A2 A GHZHE 2H 143,936 102,556 41,380
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201349
HNERFNH

201249 &
Ofl &2

HusZ

6,850,000

6,430,000

420,000

3,340,531

3,178,000

162,531

604,935

54,930

469,880

A 27,056

2,147,946

2,029,609

118,337

20,560

8,800

18,160

79,050

16,520

945,056

128,056

543,394

106,635

14,160

3,400

305,100

A 19,261

30,000

10,000

16,800

16,800

11,482

10,482

19,200

4,920
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c-PUERN-E! 1,917,949 1,835,632

A SAAL (2 2HI) 1,694,000 1,626,684
AR E 5,810
HAERE S A 5,000
PNEEEIETS 4,000
HAUEOXX I RIS 4,000
YAUDSSSHTR I 42,000
PERELET 18,000
Dt THEH ‘2 S 0hRl 4 EL QI 14,080
SAHEH 3,000
RIFSESYI 'L B2 YHIH0l&! 5,320
HAUK2E & H(JobXIE) 4,000
Boig2HY 5,080
CEEEES] 2,195
ROPHs B2 DA 3,000
DDA & HAIEY 3,660
EQIIE2EHE 'S Xiday' 5,000
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5,850
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7,320
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3,490
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22,625

30,005

A 7,380
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3,240

2,044
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646,464

599,368

47,096

19,620

46,470
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[SIHAZ] 2013 =
[HAR2] 20
SEAAR T B2 crol : &)
&/l /K| }j‘;gﬁ# 2‘(’)1"25'_"‘5 HIDE2 bl D
HYSYPH (F2ETH) 3,000 3,000 -
8F 22| (Al & HI L2 HI) 7,900 - 7,900
#H 22U (KA SH) 78,200 177,358 A99,158
SYLIHORIOICH B 240,381 291,341 A50,960
YIS YPH (LB ) 199,081 234,231 A35,150
HYSYPH (ADETHI) - 3,000 A3,000
8H 22| (Al & B L2 OHHI) 10,600 2,500 8,100
#H 2SI (KA SH) 30,700 51,610 £20,910
SoC A 437,194 588,357 A151,163
xS (2121H]) 28,800 26,400 2,400
HYSYPH (LB ) 316,614 334,194 A17,580
HYS YA (ARZTHI) 3,000 4,200 A1,200
=SS 2L (W) 4,000 4,000 -
8F 222 Hl (Al & Bl L2 CHYI) 10,480 48,550 A38,070
HH S AU (KA SH) 74,300 171,013 A96,713
EHOIE N B 224,807 321,756 A96,949
F 2A 2| (22 b)) 43,200 39,600 3,600
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